61070

B.Com. 1st Semester (Pass Course) wef Session

2014-15 current scheme Examinatibn,
November-2014
" FINANCIALACCOUNTING-I

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, Q. No. 1 is compulsory.
Attempt other four questions selecting one question

from each unit. All questions carry equal marks.
e : g o 5T B HIT wear 1 v 81 e SR
T 97 F g X GT ST AR FT | TH A F
3% T &1
1.  Explain the following in brief :
Fyeififaa & &g § e 4
(a) Givetwo characteristics of a business transaction.
eI ZFaeR i & e @l |
(b) Representative personal account
SR AR T |
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(2) 61070
(c) Two examples of compensating errors.

&fgTsh AYFEA F 2 I forad |

(d) Two points of distinction between Capital

expenditure and Revenue expenditure.

ol =278t 7 o 2t & B & o
(e) Workmen Compensation Fund.
FHE SRyl I |
(f) Give two essential features of Income and

Expenditure Account.
T g = @ A Rrdand ik |
(g) SuspenseAccount.
EERSIREI
(h) Going concern concept.
SATHA 1 = R 1 SR |
Unit-1
TFE-1

2.  Whatis Accounting ? What are its main objectives ? Also

explain the different types of accounting.
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T 12 7 g PO Sed N ¥ 7 @i 3 R s
P AT F | |

3. Whatdoyoumean by Accounting Assumptions ? Explain
and illustrate fully.
Gl A § AR FT M & ? I died o &9
q @ Hif |

Unit-2
T2

4.  State the meaning of capital expenditure and revenue

expenditure. What is the difference between them ?

TSl 289 Ud ST A 1 o1 qa1sy | 3 T of € 7

5. Babloo purchased a machine on 1st January, 2005
Rs. 1,50,000 and incurred Rs. 10,000 on its installation.
On 1st July, 2007 Babloo purchased additional machine
costing Rs. 1,00,000. On 1st October, 2008 the machine
purchased on 1st January 2005 was sold off for

Rs. 1,02,000 and on the same date, fresh machine was
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purchased at the cost of Rs. 3,00,000. Babloo
depreciates the machinery @ 10% p.a. by reducing

instalment method.

Assuming that accounts are closed on 31st Dec. each

year. Show the Machine Account for 4 years.

T ¥ T %A 1 SEd, 2005 & 1,50,000 39 H
Fhd AT 10,000 93 SEH UM W A A
1 9aE, 2007 ® F&g 7 wH AR 7T 1,00,000
T ¥ @dd 1 SMad, 2005 ® @@ woAdE
1 amRER, 2008 @ 1,02,000 0 & I & 3l
o R w6 A 3,00,000m%rﬁ@ﬂaﬁﬁlaa1
& @E 10% SRad @ & & FAFe TE TE B A

ST S 2

7 g g B e gE w7 31 R # g 3
¥ | 99fie @ 9R a9 & [ G A
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Unit-3
TR-3
6.  From the following trial balance of Mr. Mohan, prepare

trading and profit & loss account for the year ending

31st March, 2014, and a balance sheet as on that date :

Dr. Balances Rs. Cr. Balances Rs.
Drawings 5,275 | Capital 59,700
Bills Receivable 4,750 | Loan @8%p.a.(on1.4.2013) 10,000
Machinery 14,400 | Commission received 2,820
Debtors (including x for Creditors 29,815
Dishonoured bill forRs. 1,000) | 30,000 | Sales 1,78.215
Wages 20,485
Returns Inward 2,390
Purchases 1,28,295
Rent 2,810
Stock (1.4.2013) 44,840
Travelling Expenses 945
Salaries 5,500
Insance 200
Cash 9,750
Repairs 1,685
Interest on loan 500
Discount Allowed 2,435
Bad Debts 1,810
Fumiture 4,480

2,80,550 2,80,550

The following adjustments are to be made :

(a) Stock in the shop on 31st March, 2014 was

Rs. 64,480

(b) Half the amount of Xs bill is irrecoverable.

61070 ' [P.T.O.



(6) 61070

(c) Create a provision of 5% on other debtors.

(d) Wages include Rs. 600 for erection of new

machlnery

(e) Depreciate Machinery by 5% and Furniture
by 10%.

() Commission includes Rs. 300 being commiésion

received in advance.

Mo fdied % Frafofad aome & omeR 9 31 11, 2014 5
A BN a1t 99 P ATRE T A9 o e @ qer 26y
fafyr a1 forgr AR 4

M 9N To S %o
R 5275 | & 59.700
7 Rt 4750 | FT @8% o e (1.4.2013F) | 10.000
kit 14,400 | w< Fis 2,820
v {5 x & R g0 1,000 REEIS 29,815
T SR faw wefn B) 30,000 | fma 178,215
EEEt 20,485
forepa ammlt 2,390
F 1,28,295
G2 2,810
&l (1.4.2013) 44,840
FT =3 945
& 5,500
g 200
s 9,750
T 1,685
ERR I 500
g 5T 2,435
Eenkal 1810
T 4,480 :

2,80,550 2,80,550
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(@) 31 A1, 2014 #I 64,480 T 1 T |
(b) X % 4 &1 omeyw g T
(c) WWWS%WWW'@@H'
(d) 7ol & 600 F9F T 7AW W 2T % |
(e) TIF W 5% R Frek W 10% & e |

() e ¥ 300 59 1w Fhew & affer 2 |

7. What are the various types of errors that-arise in
the preparation of financial accounts ? How are they

rectified ? Explain with examples.

fordtar il & TR HXT 3 N A fafireT rgfist & -

TR & ? I AR B9 T S 8 ° Sared dfed Al

T |
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Value of hospital équipment on31.12.2010 25,500

t Building Fundas on 1.1.2010 40,000
Subscriptions in arrears as on 31.12.2009 3,250

Investments in 8% Govt. securities were made
on Ist July, 2010

31 =R, 2010 H GH 2 At a¥ & ford STdlel Sedr
H AF-FF Tl 9K HA AR 24 [y 1 Rafd e <0

CRIEETUE

Receipts and Payments Account for the

Year ended 31 Dec., 2010
A LD Ja L0
T3 400 (@ 2009 71 3,600 57) 15600
B 2,600 3,000 o w1 8,500
e 3,000
=7 T+ IR 25,000
2009 2,550 T 2Tl 1.200
2010 12,250 %ﬁ; I 7,800
2011 1,200 fhuar @
(Rs. 150 & 2011) 1,000
T S ‘
994 @ 40,000 EESIECR B LI 1,200
- W 0t Fraiea @ e 25 1000
fafey 7t @ g6 2,400 ! :
- G 10,000
T (Gl & ) 4,000 5
FF & I I 3,000 ia] 700
¥= 3,400 4,100
78.400 - 78400
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iR gEAwl

31.12.2010 3 PR 5o 1 g 70,000
© 31.12.2010 %! BWC AR H A 25,500

01.01.2010 & ¥ &Y 40,000

31.12.2009 I & == 3,250

8% TR Hiergferdt & ffEmT 1.7.2010 % fpan |

9. X consigns goods to Y at 20% profit on Invoice price,
Y is entitled to a commission of 10% on Invoice
Price and 20% on any surplus realised over Invoice
price. X sends goods costing Rs. 8,00,000 and spends
Rs. 75,000 on freight. Y accepted a bill of Rs. 8,00,000
in favour of X. Y’s expense‘s were Rs. 10,000 on
rent and Rs. 5,000 on advertisement. 3/4th of
goods were sold for Rs. 9,75,000. Part of the
sales were on credit and a customer failed to pay

~ Rs. 20,000. 1/4th of the remaining goods were destroyed

in Godown fire.

Open necessary accounts in the books of both
the parties.
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X &Y B 20% S T A 3 39T Ao 5w T R e
81Y &iv/ g W 10% e A i 5o & ot ageh
T 20% 1 AR &1 X T 8 T B9 A A AT
3R 75,000 59 12 3 27 R 1 Y 4 X B e 8 e v
1 [ Wb 5411 Y & 271 10,000 593 503 @ 5,000
9 [0 W g 53 1 | 3/4th 51 9,75.000 F &= |
BB A IUR S= 41| U Aew 20,000 ]| F SThA @ |
A T H 1/4th MM ¥ O {9

ERIREEIRIC I eI Rt R E e Rk I
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